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([@user-il8xed4gs9q 4 hours ago
Answer (b)=1

Thank you sir 4,
Very helpful session

e ' 5P Reply

v (%)« 1 reply

@shrutisingh1242 13 hours ago
Iska playlist bna dijiye sir

iy ' CJ Reply

i @nishthashukla7405 1 hour ago
Very nice session

Thanku sir Jy o oe &

iy ' CJ Reply



SSC CHSL 2022-23

¥13,540 is to be divided between Kamal and Sunita such that Kamal'
share at the end of 5 years may be equal to Sunita's share at the end of 7
years. If the rate of interest is 8% per annum compounded annually,

then Kamal's share is:

13,540 T T HAA AR FAIAT o el 30 ThR fareriera forar wm 2 ok 5
AT o 3T W HHCT T AT, 7 A oh Fd | GATAT o {780 o SR gAY
TS AHAfeg, SATS chl S 8% T B, AT HAA I (AT &

a) ¥7,280

77250\ b) %7,290
< \ c) 8,240

d) %7,390
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There are three numbers such that the first number is 3 times the send
number and the second number is half of the third number. Their
average is 60. The third number is:

T, e O Y AMmeft 1 SRt Sited 60 B et TEaT s gheit?

a) 120

727N b) 60
( D c) 30

d) 90
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A train moves at a speed of 70 km/h for 5 hours and stops at station 'A’'.

From station 'A’', the train moves to station 'B' at a speed of 66 km/h for

3 hours. What is the total distance covered by the train?

Teh & 5 ©¢ o foru 70 Terwi/eieT &t ifa & Trerd & 3 €9 'A" WX Tehd ! 2|
LI 'A' |, ¢ 3 ¥ | 66 Terti/eiet &l 7TTd & Te91= 'B' deh STl g1 ¢ gRT
q I TS THer T AT BT

a) 520 km

7745\ b) 548 km
< \ ¢) 500 km

d) 480 km
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The average of the first five multiples of 13 is:

13 % UECT UT T[UTAT <hT 37194 &:
a) 13
b) 39
C cLi) > c) 65
\ '\\‘\\,, ”//// , d) 26
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what is the HCF of P, Q and R

P, Q 3T R T HEWH TATYIASH T 22
P=a%xb5xcll,

Q=2a%xb° x ¢,

R =al® x ¢*, the

a) a’>xc’

— 5 /"/ b) a15 > b9 > C23
Ro'EH K C) axc

d) a26 > b14 > C39



SSC CHSL 2022-23

Two trains of lengths 120 m and 180 m are travelling in opposite
directions at the uniform speed of 34 km/h and 32 km/h. The time taken

by the two trains to pass each other is:

120 Tiex 3TR 180 WieX waTs <ht &1 ¢ Tarudie fevmmert | 34 ferwi/eer 3R 32
TeRH{t/EIeT shT THT T © ATAT KT T 2| ST ¢HT FRT Teh GEN ehl TR A U
SRIRIE kD DS

a) 180/11 sec

7NN b) 17 sec
C; 3 \\ c) 15.5sec
d) 16 sec




SSC CHSL 2022-23

A pond is 50 m long, 25 m wide and 4 m deep. Find the capacity of the
pond (in m?).

Teh ATAT 50 HieT TiaT, 25 HieT TIST 3 4 HieT TE 2| aTeaTe <hi &THdT
(HeT #) [T i)

a) 4000 m’
778 b) 500 m®
<:\ifkb\\ ¢) 5000 m®

d) 2500 m®




SSC CHSL 2022-23

What is the greatest number which leaves the same remainder in ea
case, when divides 265, 580 and 825?

T TTH It AT AT B RTEH 265, 580 3T 825 i faywTiig A W
ek Rt o Srower TaT S 22

' »
==}

35
55
25
45
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sell it for:

T 6] T 340 I H I TR Teh SATART Rt 20% AT BT BT 81 15%
SITH UTH S o ToT0, 30 o1& <Rl foha =l § ST 2RI

a) ¥488.75
( b) ¥475.50
=iy

ocu) 1 ) ¥455.75
= d) %517.50
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AB is a chord of a circle with centre O and P is any point on the circle. If

ZAPB =112°, then what is the measure of ZOAB ?

»
==}

% O ST Teh I I S1aT AB & 31 P o1 W a3 faig 21 afe LAPB =
112° 3, @ LOAB T €Y T 22

30°
320
22°
44°




SSC CHSL 2022-23

The ratio of the ages of A and B, four years ago, was 4 ¢ 5. Eight years
hence, the ratio of the ages of A and B will be 11 ¢ 13. What is the ratio
of their present ages?

TR T UEET A 3T B <Y 37T T STHUTA 4 ¢ 5 T| 318 ¥ 9TG, A 37K B i
3T hT AT 11 ¢ 13 FNTT ITehT SAHTT ST T ATUTT F4T 82

a) 78

N\ b) 8:7
},L c) 11:9

S d) 9:11




SSC CHSL 2022-23

AABC is right-angled at B and D is a point on AC such that BD is
perpendicular to AC. If BD = 6 cm and AD =3 ¢m, then what will be the
length of AC?

AABC, B T HHEIUT 2 3R D, AC W 3@ T Ueh foig & for BD, AC
o 21 TfE BD = 6 9HT 3T AD = 3 9T 8, a1 AC <hl #aTs T 22

a) 9cm

/60 e O b) 12 cm
C; 3 \\ c) 15cm
d) 18 cm




SSC CHSL 2022-23

0.8 X0.8X0.8+0.6X%X0.6X0.6
0.8X0.8+0.6xX0.6—-0.8X%X0.6

a) 14
C E::D > c) 140
8 d) 02



SSC CHSL 2022-23

A, B and C can independently complete the same task in 4, 6 and 12
days, respectively. In how many days will they be able to complete the
same task if they work together?

A, B 3R C T@S &G € G a1 SHAN: 4, 6 3R 12 71 7 g0 o
Tehd 5l AT F Tk AT HE FIA & a9 F THTT H1d hil T a1 H T
qra?

a) 2

O b) 3
) \\ c) 21/4

S d 2172
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